®

POLYJOHN’

Fleet Double Trailer Chassis

TU02-1001
Technical Information

General Overview
The Fleet Double Trailer - TU02-1001 is
equipped with a drop axle and remov-
able tongue, which are both galvanized
after fabrication to minimize rusting. Tail
lamps, reflectors and electrical hookup are
included. Shipped unassembled.

Specifications
Length w/o Hitch 955in 243 cm
Length w/Hitch 136in 345 cm
Width w/o Wheels 58.75in 149 cm
Width w/ Wheels 72.251n 184 ¢cm
Height w/o Wheels 7.5in 19 cm
Height w/ Wheels 25in 64 cm
Weight w/o Units 4501b 204 kg
Ball Size 2in 5.08 cm
GVWR/GAWR 17001lbs  771kg
POLYJOHN POLYJOHN POLYJOHN
USA WORLDWIDE CANADA
PolyJohn Enterprises Corp PolyJohn (UK) Ltd. PolyJohn Canada
2500 Gaspar Ave. Equinox 1 Audby Lane P.O.Box 2300

Whiting, IN 46394
Phone: 800-292-1305
Fax: 219-659-0625
www.polyjohn.com
info@polyjohn.com

Wetherby, England LS22 7RD 199 Forest Plain Rd.
Phone: 44 (0) 1937-583333 Orillia, Ontario LV3 652
Fax: 44 (0) 1937-583322 Phone: 800-465-9590
sales@polyjohn.co.uk Fax: 705-325-8250
info@polyjohncanada.ca
TUO02-1001 Fleet Double Trailer
August 2015
Page 1 of 4



NN 207 UoJAN,91/S - ££1000-Dd

'sisua)se pue ‘21eqd teadepe bl [1e3 g3 ue 1aysemield,91/S - 891000-Dd (2)
SUIBIUOD JRY3 I} B I SIYL “WHE LOO-00N.L € 49pio ases|d #C/L-1 X,91/S }|0g - 6£2000-Dd
(g37-uou) Ajquiasse Jybi| [1e3 paepuels e Bupde|dal Yy, uld Yo)H ,8/S sy ooy/m ureyd A134es - 6000-00NL

7000-00NL

Hog X,/
8€2000-0d (T)

[e29@ Apeded - 1Z00-00NL (T)
[eD2Q uonned - 0Z00-00N1 (2)
NMOHS LON

dip,a,
€000-00N1(2)

Jspdnod ,z
759080-\Id
ASSY [29Yym 121

512000-Z0NL
INN 07T UolAN 7/ 1

¥€£2000-2d ()

mu 919|dwo)

anbuoy Jajies]

DSC00-00NL
sinN Bn7 uld Jonod
NZ000-00NL(8) 7€1000-2d

19A1Y - Z01L000-Dd ()
101039y =buelQ

1000-00NL (2)

uld yauk punoy
7000-00NL(2)

Assy [y M 14b1Y
DYZ000-20NL

BUIL 199U J3]1edL

1aysep 1eld +Z1000-2d (2) 9000-00NL(2)

19AIY - ZOLO00-Dd (2)

»xASSY Y617 |1l a37 - 1€ 100-00NL
19A1Y - 201000-Dd ()
J3P|OH d1e|d 95UDIT - 2Z00-00N.L

19ysepm - 191000-2d (8)
Ma1s Buldde] J|2S - 951000-Dd (8)
Jspus4 181M3d S000-00N.L
1201y - Z01000-Dd (¥)

10109|J3Y paYy

8000-00NL(2)

12A1Y - Z0L000-2d (T)

#ASSY 1YBI7 |1eL 37 - 1€ 100-00NL
sisseyD 1ajieiL djgnod
192|4 - DD41000-¢0NL

TUO02-1001 Fleet Double Trailer

August 2015

Page 2 of 4



Assembly Instructions

Step 1: Remove the cotter pin from the 5/8” hitch pin and pull the wires out of
the tongue assembly mount.

Step 2: Insert the tongue assembly into the tongue assembly mount. Line up
the holes and insert the hitch pin and secure in place with the cotter pin.

Left Wheel Assembly to Trailer Chassis:
Step 3: Pull up the ring of the round lynch pin and remove from the left side
axle (making sure to leave the PC-000124 flat washer on the axle).

Step 4: Insert the 1-1/4” tube (located on the arm of the left wheel assembly)
onto the left side axle. Reinsert the lynch pin into the hole of the axle and push
the ring down to secure.

Repeat Steps 3 & 4 for the Right Side Wheel Assembly to the Trailer Chassis.
The units may now be loaded onto the trailer (follow the instructions below).

Step 5: Remove the D Clip from the left side of the chassis. Pull the arm of
the wheel assembly down and out clearing the hold down clip. While pushing
against the chassis, pull the arm up and insert the flat bar of the wheel assem-
bly up into the slot of the armlock (lining up the hole of the flat bar with the one
in the armlock). Insert the D clip through the holes securing in place.

Repeat Step 5 for the Right Side Wheel Assembly to the Trailer Chassis.

FS3-0019 Corner .
Handle Base -

FS3-0018 Handle
Runner Base

TU02-1001 Fleet Double Trailer
August 2015
Page3of4



Loading Units onto Chassis:
The trailer must be in the lowered position before loading the units onto the trailer.
Load the units onto the trailer facing back to back. Raise the trailer back up to continue.

For units with the FS3-0018 Handle/Runner Style Base

Step 1: With the ends of the runners
touching in the center of the trailer,
center both units front to back and
side to side on the trailer.

Step 2: Using a drill with a 1/2” bit, drill
a hole in the center of the front and
rear side recesses on either side of the
base. Drill only through the top of the
base.

NS

Drill a 1/2" hole in the center
Step 3: From the underside, using the of these two recesses
holes in the trailer as a guide, drill up

through the holes located below the holes just drilled in the top of the base.

Step 4: Bolt the units in place by placing a flat washer over the head of the 3/8"
x 4" bolts included. Insert the bolt through the bottom hole of the trailer and
through the top hole in the base. Place another flat washer and a 3/8” nylon
lock nut loosly on the top side of the bolt. Repeat this for all the other holes.
Once all the bolts have been installed, tighten them all in place.

For units with the FS3-0019 Corner Handle Style Base

Step 1: With the ends of the runners touching in the center of the trailer, center
both units front to back and side to side on the trailer.

Step 2: Place the corner hold down plates (included) over the corners of the
bases and bolt in place using the 3/8”x 5-1/2"long bolts with washers and 3/8”"
nylon lock nuts. Be sure all bolts are tightened down before transporting the
trailer and units.

Please reference your vehicle’s “Owners Manual” for guidelines on proper tow-
ing connections.

THANKYOU FOR PURCHASING POLYJOHN PRODUCTS!

Look for us on the Web @ www.PolyJohn.com

TU02-1001 Fleet Double Trailer
August 2015
Page 4 of 4



